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I. 
Directions: Each of the following sentences has an underlined word. You are to choose the one word that best keeps the meaning of the original sentence if it is substituted for the underlined word.

1. The most striking technological success in the twentieth century is probably the computer revolution. 

(A) dangerous

(B) productive

(C) prominent

(D) recent

2. The China Post reported that a 12-member team delegation of Kinmen officials went to Fujian province on June 28 to try to entice Taiwan businessmen working in China to send their children to school in Kinmen. 

(A) attract 

(B) coerce

(C) navigate 

(D) reign

  

3. In astronomy, a scale of magnitude from one to six denotes the brightness of a star.

(A) contrasts

(B) diffuses

(C) predicts

(D) signifies     

4. Over 40,000 horses and burros still roam wild in the western United States.

(A) recklessly

(B) savagely

(C) untamed

(D)unopposed    

5. A deficiency of vitamin D can lead to irreparable bone deformities.

(A) formidable 
(B) infinite

(C) occasional 
(D) permanent  

6. Oil can be conveyed by pipeline from an oil region to a refinery.

(A) diverted

(B) transported 
(C) filtered 

(D) connected    

7. All the applicants for the post are thoroughly vetted for their suitability.

(A) examined

(B) investigated
(C) searched

(D) diagnosed   

8. Feelings of ambivalence are common during courtships.

(A) adoration

(B) cowardliness
(C) recognition
(D) uncertainty  

9. Mary thought that her teacher was rather finicky about the final draft of her paper.

(A) aggravating

(B) detrimental
(C) fastidious

(D) meddlesome  

10. Each time the storyteller told about the encounter, she embellished the plot.

(A) altered


(B) enhanced

(C) exaggerated
(D) rectified  

II.
Directions: Choose the letter corresponding to the ERROR in each of the following sentences. The error may involve grammar, sentence structure, punctuation or capitalization.

11. Brakes and clutches serve very different functions in an automobile, and their principles of operation are nearly the same. 





 A



  B 



   C






 D                                                

12. If the weather is nice, Marcella always took a walk after dinner.

A           B                   C    D 

13. Although six people had expected for dinner, ten showed up.



 A




B      C
  

  D

14. Jack London, whom was known for his stories of Alaska, lived there during the Klondike gold rush.
                    A                B               C        

D
15. Despite most mushrooms are edible, some species cause serious poisoning.
      A





B



 C


 D
III. 
Directions: Each of the following sentences is incomplete. Below each of them you will see four words or phrases, marked 
(A), (B), (C) and (D). You are to choose the one word or phrase that best completes the sentence.
16.
His heartless treatment of his former colleague revealed a _____ of cruelty in his nature.

(A) mark


(B) streak 

(C) taint


(D) stain

17.
During the riots, there were _____ between local residents and the police.

(A) demonstrations

(B) rallies

(C) clashes

(D) sieges

18.  Lack of sleep over the last few weeks is finally _____ Jack.

(A) catching up with 

(B) coming over

(C) putting on      (D) getting on with
19.  For centuries people have _____ the ability of certain herbs to improve stamina.

(A) argued for 



(B) searched for 


(C) improved on 


(D) taken advantage of 

20.  Consider the universal cannibalism of the sea, all of whose creatures _____ one another.

(A) glide among


(B) prey on 


(C) hide from 



(D) compete against

21.  During a period of protracted illness, the sick can become infirm, _____ both the strength to work and many of the specific 
skills they once possessed.

(A) losing


(B) denying

(C) regaining

(D) insuring
22.  Some customs travel well; often, however, behavior that is considered the epitome of _____ at home is perceived as impossibly
rude or, at the least, harmlessly bizarre abroad.


 (A) tolerance

(B) urbanity

(C) eccentricity 
(D) novelty
23. 
It is almost always desirable to increase the yield of a crop if _____ increases are not also necessary in energy, labor, and other
 
inputs of crop production.

(A) compatible

(B) predetermined

(C) commensurate 

(D) equivocal

24.
Although often extremely critical of the medical profession as a whole, people are rarely willing to treat their personal doctors with equal _____.

(A) contempt 

(B) mockery

(C) impetuosity 
(D) sarcasm

25.
Employees had become so inured to the caprices of top management’s personnel polices that they greeted the announcement of
 
a company-wide dress code with _____.

(A) apprehension
(B) resentment

(C) confusion

(D) impassivity

IV. 
Directions: After reading each of the following passages, choose the best response to each question.
Passage 1

     The human brain, with an average weight of fourteen kilograms, is the control center of the body. It receives information from the senses, processes the information, and rapidly sends out responses; it also stores the information that is the source of human thoughts and feelings. Each of the three main parts of the brain – the cerebrum, the cerebellum, and the brain stem – has its own role in carrying out these functions.

     The cerebrum is by far the largest of the three parts, taking up 85 percent of the brain by weight. The outside layer of the cerebrum, the cerebral cortex, is a grooved and bumpy surface covering the nerve cell beneath. The various sections of the cerebrum are the sensory cortex, which is responsible for receiving and decoding sensory messages from throughout the body; the motor cortex, which sends action instructions to the skeletal muscles; and the association cortex, which receives, monitors, and processes information. It is in the association cortex that the processes that allow humans to think take place.

     The cerebellum, located below the cerebrum in the back part of the skull, is made of masses of bunched up nerve cells. It is the cerebellum that controls human balance, coordination, and posture.

     The brain stem, which connects the cerebrum and the spinal cord, controls various body processes such as breathing and heartbeat. It is the major motor and sensory pathway connecting the body and the cerebrum.

26. What is the author’s main purpose?

(A) To describe the functions of the parts of the brain.

(B) To explain how the brain processes information.

(C) To demonstrate the physical composition of the brain.
(D) To give examples of human body functions.

27. The passage states that the most massive part of the brain is the

(A) cerebrum

 (B) cerebellum

(C) cerebral cortex 

(D) brain stem

28. The expression ”grooved and bumpy” in line 6 means that the cerebral cortex is 

(A) smooth

(B) rigid


(C) layered

(D) ridged
29. The sensory cortex

(A) senses that messages should be sent out to the muscles

(B) provides a surface covering for nerve cells

(C) is where the human processes of thinking occurs


(D) receives and processes information from the senses
30. What shape does the brain stem most likely have?

(A) Small and round

(B) Long and thin 

(C) Large and formless

(D) Short and flat

Passage 2

     Samuel Morse accomplished something that is rarely accomplished: he achieved fame and success in two widely differing areas. Throughout his youth he studied art, and after graduation from Yale University he went on to London in 1811, where his early artistic endeavors met with acclaim. In London he was awarded the gold medal of the Adelphi Art Society for a clay figure of Hercules, and his paintings The Dying Hercules and The Judgement of Jupiter were selected for exhibition by the Royal Academy. Later in life, after returning to America, Morse became known for his portraits. His portraits of the Marquis de Lafayette are on exhibit in the New York City Hall and the New York Public Library.

     In addition to his artistic accomplishments, Morse is also known for his work developing the telegraph and what is known as Morse Code. He first had the idea of trying to develop the telegraph in 1832, on board a ship returning to America from Europe. It took eleven long years of ridicule by his associates, disinterest by the public, and a shortage of funds before Congress finally allocated $30,000 to Morse for his project. With these funds, Morse hung a telegraph line from Washington, D.C., to Baltimore, and on May 24, 1844, a message in the dots and dashes of Morse Code was successfully transmitted.
31. Which of the following is the best topic of this passage?

(A) Samuel Morse’s artistic talents


(B) The use of Morse Code in art

(C) The invention of the telegraph


(D) Samuel Morse’s varied successes
32. According to the passage, in his early life, Morse concentrated on preparing for which of the following careers?

(A) A career as an inventor



(B) A career as an artist

(C) A career as a telegraph operator


(D) A career developing Morse Code
33. According to the passage, Morse won a prize for which of the following works?

(A) A statue of Hercules




(B) The Dying Hercules

(C) The Judgement of Jupiter



(D) A portrait of Lafayette
34. Which of the following is NOT mentioned as a problem encountered by Morse in developing the telegraph?

(A) His coworkers laughed at him.



(B) The public was not interested in what he was doing.

(C) He suffered numerous mechanical problems.
(D) He did not have enough money.
35. It is implied in the passage that the development of the telegraph

(A) took place instantaneously




(B) was more difficult for Morse than his artistic achievements

(C) was a project that Morse often gave on up

(D) was an idea that was really developed by someone else

Passage 3 

     Distillation, the process of separating the elements of a solution, is widely used in industry today. The two most common methods of distillation are fractional distillation, used in the preparation of alcoholic beverages, and flash distillation, used for the conversion of ocean water to fresh water.

     In fractional distillation a mixture is separated into its various component parts by boiling. This method makes use of the fact that different elements boil at varying temperatures. For example, alcohol had a considerably lower boiling temperature than water: the boiling temperature of water is 212 degrees Fahrenheit, and the boiling temperature of alcohol is 172 degrees Fahrenheit. Thus, when a mixture of alcohol and water is heated, the alcohol vaporizes more quickly than the water. The distillate is collected and the process is repeated until the desired purity has been achieved.

     Flash distillation does not require high temperatures but instead is based on pressure. In this process, a liquid that is to be separated is forced from a compartment kept under high pressure into a compartment kept at lower pressure. When a liquid moves into the low-pressure chamber, it suddenly vaporizes, and the vapor is then condensed into distillate.

36. According to the passage, what makes fractional distillation occur?

(A) Time  

(B) Pressure


(C) Heat

 
(D) Water

37. According to the passage, what happens when water and alcohol are heated together?

(A) Both the water and the alcohol evaporate at the same rate.

(B) The alcohol cannot evaporate because of the water.

(C) The alcohol evaporates at a temperature of 212 degrees Fahrenheit. 
(D)The alcohol evaporates from the mixture first.

38. According to the passage, in the flash distillation process, what causes the liquid to vaporize?

(A) The pressure on the liquid is suddenly changed.


(B) The liquid changes compartments.

(C) The addition of seawater to a solution causes a chemical change to occur.

(D) There is a rapid increase in the pressure on the liquid.

39. Which of the following process would probably involve distillation?

(A) Adding a new substance to a mixture





(B) Dividing a pure element into smaller quantities

(C) Mixing two elements together to form a new solution

(D) Removing impurities from a solution

40. This passage would most probably be assigned reading in which of the following courses?

(A) Biology


(B) Aquatics  

(C) Physiology 
 
(D) Chemistry
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